

167 : $y' - 3x^2y = x^2$ の一般解.

$$y' - 3x^2y = 0 \quad \text{より} \quad \int \frac{1}{y} dy = \int 3x^2 dx + C$$

$$\therefore \log|y| = x^3 + C \quad \therefore y = Ce^{x^3}$$

$C=1$ とし $y_0 = e^{x^3}$ とおく. $u = \frac{y}{y_0}$, y は一般解, "はしり".

$$y' = (uy_0)' = u'y_0 + uy_0' = u'y_0 + 3x^2uy_0$$

$$\therefore y' - 3x^2y = u'y_0 \quad \therefore u'y_0 = x^2 \quad \therefore u' = x^2e^{-x^3}$$

$$\therefore u = \int x^2e^{-x^3} dx + C = -\frac{1}{3}e^{-x^3} + C$$

よって

$$y = uy_0 = \left(-\frac{1}{3}e^{-x^3} + C\right)e^{x^3} = \underline{\underline{-\frac{1}{3} + Ce^{x^3}}}$$

167 : $y' + xy = x^3y^3$ の一般解.

両辺 $\times y^{-3}$,

$$y^{-3}y' + xy^{-2} = x^3 \quad \therefore z = (y^{-2})' = -2y^{-3}y' \quad \text{より}$$

$$-2y^{-3}y' - 2xy^{-2} = -2x^3 \quad \text{より} \quad z = y^{-2} \quad \text{とおく,}$$

$$z' - 2xz = -2x^3 \quad \text{1階線形微分}$$

$$z' - 2xz = 0 \quad \text{の解} < \text{と, } z = Ce^{x^2}. \quad C=1 \quad \text{とし, } z_0 = e^{x^2} \quad \text{と}$$

おく. $u = \frac{z}{z_0}$, z は一般解, "はしり".

$$z' = (uz_0)' = u'z_0 + uz_0' = u'z_0 + 2xu \frac{z_0}{z}$$

$$\therefore z' - 2xz = u'z_0 \quad \text{より} \quad u'z_0 = -2x^3 \quad \therefore u' = -2x^3e^{-x^2}$$

$$u = \int -2x^3e^{-x^2} dx + C$$

$$\therefore u = \int \underbrace{(-2xe^{-x^2})}_{(e^{-x^2})'} \cdot x^2 dx + C$$

$$= e^{-x^2} \cdot x^2 - \int e^{-x^2} \cdot 2x dx + C \quad (\text{部分積分})$$

$$= e^{-x^2} x^2 + e^{-x^2} + C$$

$$= (1+x^2)e^{-x^2} + C$$

LV-5 1.5

$$z = u z_0 = ((1+x^2)e^{-x^2} + C) e^{x^2} = (1+x^2) + Ce^{x^2}$$

最後は

$$y = z^{-1/2} = \underline{(1+x^2 + Ce^{x^2})^{-1/2}}$$